Diameter change inL1 (mm)
— — 3 ] [x ey .
w o o (=] w o (41] (=]

(=]

Now W
w o wn

Diameter change in L3 (mm)
[ = N
wu [=] wi (=]

o

B 8 & 3

Diameter change in LS (mm)
5 & 2

= W

40
o g
. £
£
30
—= —a ; *
< 25
o
2 20
&
S
S 15
£
g 10
"
a L
. ‘ 0
preoperation 1 3w 2u preoperation im 3M 12M
Meonthes since surgery Monthes since surgery
40
a5
‘_—_f
f— —— o ® 30 - —e——"”‘

t3
o

Diameter change in L4 (mm)
(=]
o

—_———————

e 15
10
*
5
0
preoperation iM 3M 1M preoperation M 3M 124
Monthes since surgery Monthes since surgery
40
= 3B
E
E a0
- -
'F , M £ ﬁ’—‘.:—”ﬂa
u o
2 20
m
=
v 15
[ —— 4!__:-—_’& 3 = ——
r = 1]
—————— g 10
=
o -
b
0
preoperation M M 128 preoperation M N 124

Monthes since surgery

—e—LAL —8—LTL

Monthes since surgery

—a—LFl. —&—SAL —&—STL -—+—SFL



